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Q1. ‘Archaeopteyrx’ is a connecting link between which of the following classes of
animal?

a) Reptilia and Mammalia

b) Amphibia and Aves

c) Reptilia and Aves

d) Aves and Mammalia

Q2. In which one of the following sets of animals do all the four give birth to young
ones?

a) Kangaroo, Hedgehog, Dolphin, , Loris

b) Platypus, Penguin, Bat, Hippopotamus

c) Shrew, Bat, Cat, Kiwi

d) Lion, Bat, Whale, Ostrich

Q3. In class of Amphibia, respiration occurs through

a) skin

b) gills

c) lungs

d) All of these

Q4. Consider the following statements :

Human beings have 23 pairs of chromosomes.
Sex chromosome in human male are named XY.
Chromosomes are best seen in metaphase.
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Which of the statements given above are false about chromosomes?
a) 1, 2 and 3

b) 2 and 3

c) 1 and 2

d) None
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Q5. The factors which represent the contrasting pairs of characters are called

a) alleles

b) homologous pairs

c) dominant and recessive

d) determinants

Q6. Which of the following groups of plants are propagated through underground
root?

a) Pistia, Chrysanthemum and Pineapple

b) Bryophyllum and Kalanchoe

c) Ginger, Potato, Onion and Zamikand

d) Sweet potato, Asparagus, Tapioca and Dahlia

Q7. Consider the following statements :

A colourblind person cannot distinguish between red and green.
Colour blindness is related with a defect in cone cells.

hich of the statements given above is/are correct?
a) 1 and 2

b) 2 only
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c) 1 only

d) None

Q8. Binomial Nomenclature was given by

a) Carolus Linneaus

b) Lamarck

c) Ernst Mayr

d) Cuvier

Q9. The two strands of DNA are held together by

a) phosphodiester bonds

b) hydrogen bonds

c) peptide bonds

d) S – S bonds

Q10. Which was absent in the atmosphere at the time of origin of life ?

a) H2

b) O2

c) NH3

d) CH4

Q11. Speciation is

a) new environmental ways for existence

b) making of independent species

c) macro evolution

d) all of the above



ca
re

er
ico

ns
.co

m

Q12. A plant having seeds but lacking flowers and fruits belongs to

a) Ferns

b) Pteridophytes

c) Mosses

d) Gymnosperms
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Q13. A biogeographic region with significant reservoir of biodiversity that is under
threat from humans is called as

a) biodiversity reservoir

b) bioendangered region

c) biodiversity hotspot

d) environmentally endangered region

Q14. Which one of these is not a food chain

a) Plants ? Insects ? Frog ? Snake ? Kite

b) Trees ? Deer ? Lion

c) Plants ? Man ? Anaconda

d) Small ? plants ? Crabs ? Fish ? Swan ? bird

Q15. What was the most significant trend in evolution of modern man (Homo
sapiens) from his ancestors ?

a) Shortening of jaws

b) Binocular vision

c) Upright posture

d) lncreasing brain capacity
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Answers to the above questions :

Q1. Answer: (c)

Q2. Answer: (a)

Penguin, kiwi & ostrich all belong to class Aves of chordata (i.e. birds) and they do not give
birth to their young ones, they are oviparous while kangaroo, hedgehog, dolphin, loris all
belong to class mammalia and are viviparous.

Q3. Answer: (d)
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MEASUREMENT AND SI UNITS  MEASURING DEVICES AND SCALES

MECHANICS (MASS, FORCE, ACCELERATION, WORK, ENERGY, MOMENTUM,

VELOCITY)

FORCE OF GRAVITY, SOLIDS AND FLUIDS  MOTION UNDER GRAVITY

PHYSICAL PROPERTIES OF MATERIALS

LIGHT, HEAT, THERMODYNAMICS, WAVE MOTION, SOUND, OPTICS & OSCILLATIONS

ELECTRIC CURRENT AND MAGNETISM  NUCLEAR PHYSICS AND CONDUCTIVITY

MODERN AND SPACE PHYSICS, SOURCES OF ENERGY

GENERAL CONCEPTS OF CHEMISTRY  NATURE OF MATTER AND COMPOSITION

ATOMIC STRUCTURE MOLECULES AND NUCLEAR CHEMISTRY

CLASSIFICATION OF ELEMENTS, CHEMICAL BONDING, PERIODICITY IN PROPERTIES &

PHYSICAL TRANSFORMATION

METALS, NON METALS, MINERALS, ORES, PROPERTIES, USES
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ALLOYS, CARBON & ITS VARIOUS FORMS, HYDROGEN & COMPOUNDS, SULPHUR,

NITROGEN, HALOGEN & INERT GASES

ACIDS, BASES, SALTS AND METALS

HYDROCARBON, ALCOHOL, POLYMER, ORGANIC ACID AND EXPLOSIVE SUBSTANCE

FUEL, FOOD PRESERVATION, NUTRITION, MEDICINE, DETERGENTS AND FERTILIZERS

INORGANIC CHEMISTRY  ORGANIC CHEMISTRY  ENVIRONMENTAL CHEMISTRY

SOME IMPORTANT MAN MADE MATERIALS  SUB DIVISIONS OF BIOLOGY

GENETICS, EVOLUTION OF LIFE & ECOLOGICAL BIODIVERSITY  TAXONOMY

HEREDITY  BIOFERTILIZER

BIOLOGICAL CLASSIFICATION CELL TISSUES AND DIVISION  HUMAN ANATOMY

BLOOD TRANSPORT SYSTEM  DIGESTION AND EXCRETION  PHOTOSYNTHESIS

VITAMINS, NUTRITION, HEALTH, DISEASE AND TREATMENT

ENDOCRINE GLANDS, HORMONES

PHYSIOLOGY OF PLANTS, HUMANS AND ANIMALS  REPRODUCTION

FOOD PRODUCTION  BIOLOGY IN HUMAN WELFARE

ECOLOGY AND ENVIRONMENT AWARENESS

GENETIC ENGINEERING AND BIO TECHNOLOGY

Q4. Answer: (d)

Humans have 46 chromosomes i.e., 23 pairs of chromosomes, of which 21 pairs are
autosomes and 2 pairs are allosomes or sex chromosomes.

Human male sex chromosomes are named XY. During cell division, the chromosomes of
every cell are most condensed are arrange themselves on the equatorial plane which makes
them best visible.

Q5. Answer: (a)
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Q6. Answer: (d)

Q7. Answer: (a)

In colour blindness there is no actual blindness but there is a deficiency of colour vision. The
most usual cause is a fault in the development of one or more sets of retinal cones that
perceive colour in light and transmit that information to the optic nerve.

Q8. Answer: (a)

Q9. Answer: (b)

Q10. Answer: (b)

Oxygen gas was not present due to reducing atmosphere, it only came to existence after the
evolution of photosynthesis process.

Q11. Answer: (d)

Q12. Answer: (d)

Gymnosperms are vascular land plants having naked ovules i.e., ovules are not enclosed in a
ovary hence, flower is absent. Ovules after fertilization produces naked seeds. Pteridophytes
(ferns) and mosses do not produce seeds.

Q13. Answer: (c)
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Q14. Answer: (c)

Q15. Answer: (d)

The most significant trend in evolution of modern man (Homo sapiens) from his ancestors is
development of brain capacity.
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